N & 0l & AF & E A A
20218 & =0lah =&ML SE3H &A
A 23AM
B 2BADS
Cel el (=24 SE3AH) (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa Hl B E2
B 2/ M I 515,235 479,792 35,443
J| 512,799
= 2,436
SHEIES 515,235 479,792 35,443
| 512,799
[ia 2,436
s zel(x=2Md SE3H) 515,235 479,792 35,443
| 512,799
[ia 2,436
sEHE 2 100,825 90,003 10,822
| 100,825
401 A& BIZ 201 8] 100,825 90,003 10,822
| 100,825
01 A& HI 100,825 90,003 10,822
Ogas2ael('19¢ Ol EIIHI &)
60,000,000 » 1A 60,000
| 60,000
020208 @FEL HHEAZAME2UHE
40,825,000& 1A 40,825
| 40,825
sEFAH=HTA FUXA 370,974 341,970 29,004
| 370,974
402 RIZEX201 ™ 370,974 341,970 29,004
| 370,974
02 22t X2 AL E = (01X THE) 370,974 341,970 29,004
O2Y£H +¥H7A ZOINAAY
24,731,600 * 1500 2 370,974
| 370,974
FOXAAMY EIF L DBAIA 31,000 29,319 1,681
| 31,000
101 12 dl 24,639 23,219 1,420
| 24,639
04 JI2ZHHZ2 XS 24,639 23,219 1,420
O X3AMY AT 24,639
—Jlas 69,7603 x2H 130 18,138
| 18,138
- =54 69,7603 x2H x26 3,628
J| 3,628
—HxX=g 69,7603 »2H x6 838
| 838
—5E8& 22,604,000 *9% 2,085
| 2,035
201 Let24d] 3,000 0 3,000
| 3,000
01 At 22l 3,000 0 3,000
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2A: 3H
PN

BH: 23
Sl BHBA(LEML SHIN) CEEED
SN EB -G (3H) - NBAY - BES ofl &t o SSa HDE2
O2AMD & Zgly A223H| 250,000& = 12& 3,000
J| 3,000
202 044l 3,361 6,100 N2,739
Dl 3,361
01 2L Y| 3,361 6, 100 N2,739
FOIX2AAIY FXAEH & 3,361,000& 3,361
Dl 3,361
SHEOS 2H ALY 10,000 13,628 N 3,628
J| 10,000
101 @1 21| 9,069 7,010 2,059
J| 9,069
04 JIZtHI2E2XNEE 9,069 7,010 2,059
OLHASIAIY ol 2d| 69,760& *13H x10 9,069
Jl 9,069
201 et A b 931 6,618 AN5,687
Dl 931
01 At 22l ] 931 6,618 N5,687
OF3AEE 5 2E2E ¢ 931,000& 931
J| 931
N3 A0ILE MEHZSSH 22| 2,436 4,872 N2,436
201 LEr2 Y| 2,436 4,872 ~2,436
02 332494l 2,436 4,872 N2,436
OAEH A0ILIZ MEISSs3 22 2,436
— MO ERE 6,000 x 122 x6& /128 36
—MIR23 400,000 x12& 68 /12€ 2,400
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FN: 2SS M
M 9 RS e
Sl BT (BN SHIH) (S &2)
SA - BB B (BA) - MM - BHES Ol &t o4 SSa HmEET
O23ct=HMelAld =ZHJA 2 A AL (TMS)
=EIIJ1 |2l 89 440,000,000 14! 440,000
OFI=ZANE UM 523,821
— HelZ LED Wi(ad 48 22)
28,333,300 *30H 2 85,000
J| 62,600
[ia 22,400
— &% SHBZY HEud & S
118,821,000 100 2 118,821
J| 87,928
s 30,893
—2720ISot=MelAlE 22lY DS A
Q&) 70,000,000 * 104 2 70,000
— &0 H) 2 WAHSM(RFots)
50,000,000 * 104 2 50,000
— &2 Maldl HLaSAH(RE, &%)
100,000,000 *20H A 200,000
402 RIZ2EXt20l ™ 4,782,005 4,349,800 432,205
J| 2,057,367
e 2,724,638
03 212t EFAFS HI 4,782,005 4,349,800 432,205
OtZIIZAE U=ad 182,525
—KYET EE, ¥ 2 HILE V(R
=5t=) 32,000,000 =104 2 32,000
J| 23,680
s 8,320
—MBUSXE S Ex(2tdots)
9,977,000 = 1CH 9,977
Jl| 7,383
i 2,594
—AHEI Ex(4&ats) 20,548,000 « 1CH 20,548
J| 15,206
[ia 5,342
— A2 E=ZA(RF0ot=)
20,000,000% = 1CH 20,000
—NHSAEHOUH RM(RE &)
25,000,000 *20H 2 50,000
— & ML WA (oHE)
50,000,000% = 1CH 50,000
OZII=AE 22l (2Fdt=Hel & 2
3000 4) 377,290,000& 12 4,527,480
J| 2,011,098
s 2,516,382
ObtSdt=HMelAld =X 0l&H|
150,000& »403| 12 72,000
BRI =ANLE 2L (Gl B, 5&) 352,075 382,598 A 30,523
301 LEXZ 64,800 0 64,800
12 JIEtE4 3 64,800 0 64,800
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FN: 2SS M
HMa: gD WRe s
Sl BT (BN SHIH) CERED
(o
SN FHE - EA(SA) - MEAY - BES 0l &t o il Bl DE2
OMUSI=HeINE 2k ~Het Hel 248
A& 36,000& *1,8000t 64,800
308 XX EHSOIA 75,515 72,998 2,517
N 3J2soeEaE2AS AR 75,515 72,998 2,517
O335t=HMelAM&(RFot=HelE 2 294L)
telthe &g ot 2,517,149 x300H & 75,515
401 Al HI K 201 211,760 309,600 A 97,840
01 A& HI 211,760 309,600 A 97,840
Obtgdt% JI=& e (&)
59,060,000 = 10H 2 59,060
OfRF=Z3ot=HMelAlE WAESED
52,700,000 = 10H 2 52,700
Ost=& 2=+ 100,000
— o282 =4 10,000& 5, 000m 50,000
— 272 StZ At 5,000,000 *100H 2 50,000
22 ota=Xa7E SEAS 461,000 71,000 390,000
= 225,000
J| 189,000
e 47,000
401 Al HIZ 201 Y] 461,000 71,000 390,000
= 225,000
J| 189,000
s 47,000
01 A& HI 377,680 64,311 313,369
22 staHe 7Y HIALY
188,840& *2,000m 377,680
= 169,000
J| 169,800
e 38,880
02 2feldl 80,000 6,050 73,950
ORFE stH2l 2 HFAY
938,967,000& *8.52% 80,000
= 56,000
J| 19,200
i 4,800
03 A& =2 THHI 3,320 639 2,681
O2FE slaHl 2 SEAY
461,000,000 x0.72% 3,320
== sHENS o= FHIAY 449,000 314,000 135,000
= 314,000
J| 107,000
e 28,000
401 A& HIZ 2018 449,000 314,000 135,000
= 314,000
Il 107,000
= 28,000
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FN: 2SS M
A 9 JHRE 2
Sl BT (BN SHIH) CERED
= _ — d =
SN FHE - EA(SA) - MEAY - BES 0l &t o il Bl DE2
01 A& HI 365,767 284,986 80,781
=& sHENS =S FHIALY
9,144 1753 =40 m’ 365,767
= 258,000
J| 87,800
s 19,967
02 Zeltl 80,000 26,753 53,247
FZ sHELNS =S FZHIALY
938,967, 136 & *8.52% 80,000
= 56,000
J| 19,200
e 4,800
03 Al S THHI 3,233 2,261 972
OFs sUHENS ot+==ZHIAE
449,000,000& x0.72% 3,233
A SHEDS o= LAY 1,170,436 151,002 1,019,434
= 175,000
J| 258,000
e 737,436
401 Al HIZ 201 Y] 1,170,436 151,002 1,019,434
= 175,000
J| 258,000
s 737,436
01 A& HI 900,000 137,048 762,952
Ol sHENS ol+==SEAL
4,736,842& x190m’ 900,000
= 100,000
J| 200,000
e 600,000
02 2feldl 270,436 12,866 257,570
Otlh sHENS ot S A
3,174,131, 455% *8.52% 270,436
= 75,000
J| 58,000
i 137,436
zcl sHEDNS o= ZHlAY 243,000 170,000 73,000
= 170,000
J| 58,000
i 15,000
401 A& HIZ 201 I 243,000 170,000 73,000
= 170,000
J| 58,000
i 15,000
01 A& HI 141,250 154,292 A 13,042
Oxcl sHENS ot+=TZHIAE
1,486,842& »95m' 141,250
= 100,000
J| 34,000
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100,
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401 AIEHIZ 2 THHI

S
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1,778,000
1,245,000
427,000
106,000

5,235,

000

A 3,457,000

01 Al£ HI

OoHE 8 taRel R SHFAY
296,333.2! *6,000m

H
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1,778,000
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427,000
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2N
X ZH -
L= B

el

TEE Y- P
9D MWRE +F e
StATRY(SEMNM SHEH)

- _ _ RE]
SA BB (SH) - HRAY - B Ol At o %@ﬁ HRE2
N2 sHE0IE 6l SEAMNY 772,852 77,000 695,852
= 51,000
J| 168,000
= 553,852
401 Al HIZ 201 Y| 772,852 77,000 695,852
= 51,000
J| 168,000
= 553,852
01 Al&H| 719,000 69, 746 649,254
Oxs sHEDNS St==SEAZ
8,987,500 80 m’ 719,000
= 51,000
J| 168,000
= 500,000
02 2teld| 49,001 6,561 42,440
OX= sHEDNS St EMY
575,129, 100& *8.52% 49,001
03 AlE 201 Y| 4,851 693 4,158
OX= sHENS St EMY
770,000,000 *x0.63% 4,851
2F2 ot EH JI2HE HELE =29 600,000 0 600,000
401 AlEHIZL 2 0HY| 600,000 0 600,000
01 Al&H| 600,000 0 600,000
2FD S4CHEY JI2HE(HE) 2
1,898, 734-& 316k 600,000
2FEZ LF o522 HESAY 600,000 0 600,000
= 500,000
= 100,000
401 Al HI L 204 HI 600,000 0 600,000
= 500,000
= 100,000
01 Al&H| 600,000 0 600,000
ORF3 LFol+=22 MEAY
18,750,000& *32km 600,000
= 500,000
= 100,000
INEEEZ22MH2AE SFLXAIE NL A 600,000 0 600,000
= 192,000
= 408,000
401 Al HI L E0HHI 600,000 0 600,000
= 192,000
= 408,000
01 A& H| 600,000 0 600,000
O M2AE AFBUXAE HNLAIS
00,000,000 =14 A 600,000
= 192,000
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FN: 2SS M
HMa: gD WRe s
SYl BACRY(SENM SHEA) (ol @e)
= _ — d =
SN FHE - EA(SA) - MEAY - BES 0l &t o il Bl DE2
| o 408,000
gote] ot 2 S XS FHISAM 220,000 0 220,000
401 Al HI R 201 I 220,000 0 220,000
01 A& Hl 220,000 0 220,000
Ogtel ot+=22 XD U S A
1,062,800& *207m 220,000
TS LFo=22 FLIANEY 200,000 0 200,000
401 AIEHI L 2] 200,000 0 200,000
01 A& Bl 200,000 0 200,000
OPHE L35t4H2 FLUIAEY
6,024,096& *33.2km 200,000
S =48l ZHAY 70,000 0 70,000
401 AIEHI L 2 CHYI 70,000 0 70,000
01 A& HI 70,000 0 70,000
SES HAAH FUIAY
1,000,000& *702t 2 70,000
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